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Sta. A Az uTC Resid T A [||Sta. A Az uTC Resid T en}}‘re
Phasc Phase
e L TN PREREURTE UL o M D L ORI L 6 SR
A pP 04 53 40.2 0.4
1985 12 1 | sP 04 53 43.5 0.0
0 =01 37 01.1 + 0.11s $S 04 58 10.0 22
LAT=51.80 N +  2.63km LN Ms=4.8 160 1.45
LONG=17467 W +  1.34km TIA . 255 263 oP 04 53 32.1 —().3
DEPTH= 32 km + 0.12km NJ2 264 253 cP 0443 418 " =04
STATIONS USED = 25, STAND DEV= 0.93s 2 Ms=4.5 180 0.86
MDJ 370 281 -P 01 44 09.2 -1.1 HHC 27.6 276 P 04 53 55.0 2.4
CN2 400 283 +P 01 44 34.0 —0.9 TIY (5882 P2I0%-2P 04 53 58.5 1.0
SNY 422 282 +iP 01 44 53.7 0.3 sS 04 58 48.5 -4.9
BJI 478 284 P 01 45 37.5 —0.4 LN Ms=4.6 150 0.57
SSE 50.6 272 ¢P 01 46 01.2 1.9 LE 150 0.43
sP 01 46 12.2 —0.1 BTO 288 277 cP 04 54 03.5 0.2
TIY: #SHS w28k & 01 46 07.0 0.4 eS 04 58 52.0 1.5
XAN 56.1 283 eP 01 46 39.5 —0.7 LN Ms=4.7 18.0 0.60
GTA . 578 @94 R 01 46 51.4 —0.9 LE , 180 1.00
GYA . 809 B 01 47 26.6 —0.2 LZH 380 213 P 04 54 56.5 -1.6
GTA 366 280 P 04 55 10.1 —0.4
1985 12 1 CD2 37.8 265 cP 04 55 18.8 -1.7
0=02 20 17.1 + 0.04s IGYA 383 257 P 04 55 26.2 102
LAT=36.38 N + 0.33km WMQ 432 292 P 04 56 04.5 -1.2
LONG= 71.16 E + 0.37km
DEPTH= 20 km 1985 12 1
STATIONS USED = §, STAND DEV= 1.04s O=06 16 38.3 *+ 0.09s
* M, =4.1/ 2, | LAT=16.45 S + 2.05km
KSH 49 50 cPg 0221 436  —02 | LONG = 66.66 E + 1.68km
eSg 02 22 41.6 -8.9 DEPTH= 9 km + 0.14km
SMN M, =4.] Dk i STATIONS USED = 49, STAND DEV= 0.97s
SME 0.2 - 20 Ms=5.2/ 6,
LSA 15616 .27 +p 06 25 48.7 0.5
1985 12 1 | KMI 543 41 cP 06 26 04.0 -3.7
0=04 48 04.6 + 0.15s " , S 06 33 40.0 2.7
LAT=44.05 N + 3.57km LZ Ms=5.9 240 8.65
LONG=148.99 E + 1.79km KSH 3588 ' g.hp 06 26 22.0 —0.4
DEPTH= 27 km + 1.83km eS 06 34 13.0 1.7
STATIONS USED = 46, STAND DEV= 1.93s GYA 577 43 +P 06 26 33.2 0.7
Ms=4.6/ 9, S 06 34 33.0 44 :
MDJ 139 279 ¢P 04 51 25.0 27 CD2 4 159,18 8539, P 06 26 41.2 0.7
S 04 54 02.0 24 ) L - 06 34 47.0 0.6
LZ Ms =40 280 1.15|LZH  63.0 33 cP 06 27 08.0 -0.6
CN2 17.0 277 cP 04 52 000 =17 WMQ 630 17 —-P 06 27 08.0  —0.6
¢S 04 55 06.0 =23 pP 06 27 16.0 29
. Iz Ms =46 16.0  1.8C S 06 35 40.0 3.6
gNY 18T 212 P 04 52 27.0 3.4 - LN & | Ms=5.3 180  1.20
LE | Ms=43 17.0  093||GTA 636 28 =P ' 06 27 128 -0.2
~ BJI 246 272 cP 04 53 24.0 o [l LZ Ms=5.2 260 145

R R A fF L D4 53290 =28 fxaN 643 38 U5 27 168 CRegis

—1231—




WHN

December, 1985
cP

65.5 45
TIY 689 38 eP
S
LN
NJ2 69.5 46 +P
BTO 606 M P
cPP
cS
LN
LE
HHC 706 35 P
TIA 70.8 41 eP
BJI 7127 38 cP
SNY 782 40 c¢P
CN2 804 39 -P
MDJ 834 40 -P
198§ 12 1
O=11 41 27.2
LAT=2849 N

NJ2

TIA

SNY

LONG=130.37 E
DEPTH= §7 km

STATIONS USED = 20,

Ms=4.4/13,

106 292 cP
LZ
cP
LN
LE
LZ
+P
LN

13.6 308

14.4 339

CN2

MDJ

BJI

TIY

15.8

16.1

16.4

17.6

347

358

318

306

292

LE
=
sP
eS
LZ
cP
S
LE
cP
cPP

SME

LN
LE
cP

PP
LN

LE

cP

s &
x
2w
.

06 27 25.0

11 45 46.0

0.3

12.0

14.0
14.0

14.0
14.0
14.0
14.0

12.0
15.0

14.0

28.0

5.0
14.0

13.5

14.0
13.0

06 27 47.0 0.3
06 36 53.0 4.2
Ms=3,1
06 27 50.0 0.3
06 27 51.5 0.8
06 30 26.0 0.7
06 36 56.0 -2.1
Ms=3.1
06 27 57.6 0.8
06 27 56.8 -1.3
06 28 10.0 0.9
06 28 40.3 0.4
06 28 52.0 -0.9
06 29 08.1 -0.2

0.24s

3.09km

- 2.84km

2.31km

STAND DEV= 2.68s

m;=4.7/ 1

11 44 00.0 1.4
Ms=4.0

11 44 38.3 ~0.6
Ms =4,
Ms=4.4

11 44 48.0 ] 7
Ms=4.5

11 45 09.0 1.6

11 45 25.0 0.5

11 48 02.0 2.2
Ms=4.8

11 45 10.0 -1.6

11 48 08.0 1.4
Ms=4.0

11 45 14,5 -1.0

11 45 30.5 1.5
my,=4.7
Ms=44

11 45 25.0 =3/

11 45 42.0 ~2.6
Ms=4.6

=27

e | i e
: oS 1149150 -10 Centre
[HHC 19.7 314 P Il 45 54.0 -1.2
BTO 206 311 cP Il 46 06.5 2.1
0.43 cS 11 49 47.0 0.7
’ LN Ms = 4.4 150  0.70
| LE 150 0.50
| LZ Ms=4.5 150 1.10
GYA 21.1 270 P 11 46 11.6 1.8
o.30lcp2 232 282 P 1146 29.1  -1.3
0.4GTA 27.5 301 P 11 47 08.6 -1.9
; 1985 12 1
| 0=1355 108 £ 0.158
] LAT=14.33 S + 2.00km
| LONG=166.51 E + 2.54km
! DEPTH= 31 km + 0.45km
| STATIONS USED = 31, STAND DEV= 1.8
| Ms=5.2/ 3,
SSE 62.7 317 ¢cP 14 05 37.0 1.3
cpP 14 05 47.0 2.0
' S 14 14 04.0 4.2
¢SS 14 18 13.0 6.3
| LN Ms=35.2. 180 0.88
IDL2  67.5 323 cP 14 06 10.0 3.3
{IMDJ  67.6 332 cP 14 06 05.7 -1.3
0.9 pP 14 06 16.4 0.1
R sP 14 06 20.0 —0.2
0.58] S 1414 590 —04
099ICN2 689 329 ¢P 14 06 14.0 -1.4
1.5C pP 14 06 23.0 =7
| ¢S 14 15 16.0 -0.7
1.21 LE | Ms=5.3 100 0.60
0.994GYA 709 305 cP 14 06 33.4 5.9
BJI 71.5 321 ¢P 14 06 30.5 —0.5
' pP 14 06 40.0 0.2
TIY |, 725 :3{3 " eP 14 06 35.4 -1.5
2.6( cS 14 15 59.0 0.8
LN Ms=35.1 120 043
IXAN 729 313 ¢P 14 06 39.0 -0.3
0.8IIKMI 735 302 —p 14 06 44.0 1.0
pP 14 06 54.0 2.1
S 14 16 17.0 9.1
0.ISlHHC 748 320 p 14 06 50.6 0.0
0.91ICD2 752 308 cp 14 06 53.0 0.3
0.5( S 14 16 30.0 2.9
BTO 756 319 ¢p 14 06 56.0 0.6
cpP 14 07 07.0 2.5
1.3 ¢S 14 16 37.0 3.1
0.7LZH 77.5 313 ¢P 1407065 0.5
[CTA 819 314
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Internationa
December,  SH8§10logica

20 16 04.6

WMQ 919 315 p 14 08 17.5 -0.9 MDJ 67.2 332 ~0.3
SNY 681 326 P 20 16 11.5 0.7
198§ 12 1 TIA 68.3 318 cP 20 16 10.6 ~-1.4
O=14 26 37.3 + 0.12s CN2 686 329 =P 20 16 12.0 ~1.5
LAT=28.47 N + 3.87km PMZ 30 0.20
LONG =140.34 E + 3.19km ¢S 20 25 100 =20
DEPTH= 14 km t 2.22km LE Ms=5.1 120  0.40
STATIONS USED = 14, STAND DEV= 2.74s GYA 708 305 +P 20 16 27.4 0.0
Ms=4.4/ 3,  my=82/§ pP 20 16 44.4 6.4
TIA 210 297 ¢P 14 31 21.3 -2.3 BJI 7152 « 3210 &P 20 16 29.5 ~0.2
PMZ my= 5.2 6.0 062TIY 723 317 +P 20 16 35.5 ~0.4
csS 14 35 23.5 1.3 XAN 727 312 +iP 20 16 38.2 .5
BJI 23.0 306 cP 14 31 44.0 1.0 KMI 735 302 +P 20 16 43.5 0.3
TIY 251 299 ¢P 14 32 06.8 3.7 ¢S 20 26 12.0 2.9
XAN 274 290 ¢P 14 32 21.2 -3.3 HHC 746 320 -P 20 16 49.6 0.1
BTO 276 304 cP 14 32 26.5 —0.4 CD2 75.1 307 cP 20 16 52.1 —0.4
esS 14 37 16.5 0.0 BTO 754 319 +P 20 16 54.0 —0.3
LN Ms=44 140  0.30 cpP 20 17 05.0 0.2
LE 14.0  0.4¢ cS 20 26 31.0 0.3
L Ms=4.4 140 O050|LZH 774 312 +iP 20 17 06.5 1.0
CD2 318 283 ¢cP 14 33 05.0 1.0 GTA 81.7 314 +iP 20 17 28.0 —0.8
GTA 351 299 ¢P 14 33 32.8 0.1 LSA = ‘8427302 P 20 17 43.9 —0.6
WMQ 445 305 P 14 34 53.0 2.7 WMQ 91.7 315 +P 20 18 17.0 —0.8
1985 12 1 1985 12 1
O0=16 14 04.8 + 0.04s 0=20 31 46.6 + 0.14s
LAT= 3553 § + 0.63km LAT=37.61 N + 2.51km
LONG=130.35§ E * §.36km LONG= 56.64 E * 1.10km
DEPTH= 48 km + 0.14km DEPTH= 17 km + 0.46km
STATIONS USED = §, STAND DEV= 1.88s STATIONS USED = 20, STAND DEV= ].96s
KMI 406 320 cP 16 21 41.5 —0.8 Ms=4.8/ 1,
BJI 47.2 345 P 16 22 34.5 —0.6 KSH. - 153"+ 771 %p 20 35 19.1 —-4.2
WMQ 624 326 P 16 24 24.5 ~1.1 cS 20 38 07.0 ~5.7
LN Ms=4.8 9.0 1.80
1985 12 1 WMQ 243 65 P 20 37 04.5 0.2
0=20 05 11.9 + 0.15s ' S 20 41 27.0 8 4
LAT=13.70 S + 1.91km SMN 2.5 0.043
LONG=166.90 E + 2.76km GTA 336 73 ¢P 20 38 28.0 —0.8
DEPTH= 39 km * 0.63km CD2 392 85 ¢P 20 39 16.8 0.8
STATIONS USED = 50, STAND DEV= 1.32s XAN 421 78 cP 20 39 39.8 —0.2
Ms=4.7/ 3, i GYA 434 90 P 20 39 55.6 4.9
SSE  62.5 316 cP 20 15 33.5 ~1.1
PMZ 1.2 0.039 1985 12 2
pP 20 15 46.0 0.7 O=00 11 41.0 + 0.32s
¢S 20 23 58.0 0.0 LLAT=24.27 N t  2.68km
¢SS 20 28 06.0 2.9 LONG =122.22 F + 3.06km
LN Ms=4,7 16.0 0.2 DEPTH= 15 km
- N2 647 316 4P 205 480%: . =08 Il STATIONS USED = 12, STAND DEV= 3.36s
LS 28 ' LZ Ms=4.7 200 0.3 M, =33/11, ‘
;__..a,i-,a-;}\_{;élﬂ.j 670 312 -p 20 16 03.0 -~0.5 QZH 34 282 —Pn

00 12 32.5 ol 8

il :
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December, 1985 _ 3 _Internationa
SMN M, = 3.3 0.5 0.09 LG, 0050 500 5.2 éee'mg‘@g'ca
SME 0.5 0.09¢ LG, 00 51 09.0 3.9
SSE 6.9 353 cPn 00 13 20.9 ~0.7 LN Ms=4.5 13.0 1.32
LE 11,0 1.42
1985 12 2 NI .2 088% A8 e 00 47 13.4 0.5
O=00 44 02.2 +  0.13s LG, 00 51 12.0 AW
LAT=26.49 N + 1.49km GTA 136 343 P 00 47 15.6 ~2.1
LONG = 105.08§ E +  1.12km LE Ms=4.3 120 0.95
DEPTH= 1§ km +  0.05km BTO 14.7 15 ¢P 00 47 31.0 —0.5
STATIONS USED = §4, STAND DEV= 25ls ¢S 00 50 08.0 —6.9
Ms=45/18, M, =48/10, LG, 00 51 38.5 —4.4
GER 14 .0 Be 00 44 30.6 2.6 LN Ms=4.5 100  0.60
Sg 00 44 50.0 2.3 LE 9.0 0.80
SMN 2.0 40.8 LZ Ms=4.3 100  0.70
SME 20° 142|SSE 149 68 cP 00 47 37.0 2.9
2.5 237 +Pn 00 44 44.0 1.1 cS 00 50 20.0 0.5
Pg 00 44 51.0 4.8 ¢eLG, 00 51 48.3 -1.1
Sn 00 45 19.0 4.4 SMN L5 "8
Sg 00 45 28.0 7.8 'SME 1.4 0.069
LN 50 7.2/HHC 153 19 ¢P 00 47 35.0 —4.9
CD2 46 346 cPn 00 45 14.2 3.1 5 00 50 33.0 3.8
Pg 00 45 30.2 7.6 LG, 00 52 09.0 6.0
Sg 00 46 23 8 ~1.0 LE Ms=4.6 100 1.34
SME 2.0 8.49|BJ1 164 32 P 00 47 49.0 —4.6
SMZ 2.0 4.3C cS 00 50 48.0 -70
LE Ms=4.8 7.0 113 cLG, 00 52 41.0 4.0
XAN' §2 2314 00 46 03.3 -1.0 LN Ms=4.3 11.0  0.46
S 00 47 33.0° . —4.7 LE { 110 0.39
LN Ms=4.7 10.0 261|[SNY 216 40 cP 00 48 55.0 1.1
LE 100 383|WMQ 223 325 P 00 49 01.5 0.5
GZH v S S 00 46 03.5 o | ¢S 00 53 00.0 -1.0
iS 00 47 315 ~7.0 CN2 239 -39 +P 00 49 17.5 0.8
LG, 00 48 25.9 4.2 esS 00 53 39.0 —0.5
SMN My =5.2 1.0 06 LE Ms=4.2 140 0.40
SME 1.0 G457
QZN 5.6 143 ¢P 00 46 045.6 ~3.3 ' 1985 12 2
LN Ms=4.5 LEDL. sl O =01 03 33.0 + 0.12s
LE 12.0.. & 2496 LAT=27.90 N + 1.65km
WHN 91 62 -P 00 46 17.0 0.4 LONG =129.63 E + 1.52km
PMZ . 0.6 018 DEPTH= 39 km + 0.48km
iS 00 43 00.5 0.6 STATIONS USED = 64, STAND DEV= 1.97s
LG, 00 48 48.0 —0.8 Ms=4.7/25, M =42/ 1, my=49/ 1
iLG, 00 49 12.0 8.8 SSE 80 295 ¢cP 01 05 28.0 -1.8
I.N Ms=4.7 8.0 211 - pP 01 05 350  -1.8
LE 6.0 1.6¢ eS 01 07 02.0 2.3
LZH 50 354 P 00 46 25.0 1.3 cLG, 01 07 43.0 -]
5 00 48 08.0 ~4.2 LG, 01 07 58.0 0.6
(1055 1 0049 128 ') <13 SMN M, =4.2 1.0 0.069
00 47 03.7 ~2.0 | SME -. 1.0 0.051
- 00 47 05.5 =~1,6 ! 01 05 58.0

+P
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W86 ternationa

December,

AT PN TR e i i . aind —m
LZ Ms =413 17.0  2.1C S (1 12 34.0 0.5 Centre
QZH 103 256 P 01 06 03.0 1.3 LE Ms = 5.0 13.0 2.33
LN Ms = 4.0 14.0 0.5 LZ Ms = 5.0 140 2.62
LE 160 08 KMI 242 270 +P 01 08 47.5 0.0
DL2 128 331 ¢P 01 06 40.0 4.1 ' S 01 13 04.0 4.6
ey 01 09 00.0 1.8 LE Ms=47 IS4 o W52 E
LN Ms =46 13.0 1L54|GTA 27.2 " 303 =iP 01 09 13.6 o
LE 13.0 1.48 LE Ms=434§ 14.0 1.0&
TIA 134 311 ¢P 01 06 41.6 g3 LSA 33.7 v 282 =P 01 10 11.4 -].5
PP 01 06 56.2 1.6 WMQ 37.1 307 P 01 10 40.5 -1.4
eS 01 09 08.2 —4.6 '
LN Ms=47  14.0 1985 12 2
LE 14.0 O=01 10 51.3 + 0.34s
LZ Ms=4.38 14.0 LAT=31.38 N + 3.60km
WHN 136 285 P 01 06 46.4 0.6 LONG=139.90 E + 2.98km
LG, 01 10 34.0 —6.1 DEPTH= 19 km '
LE Ms=4.7 130 280 STATIONS USED = 8, STAND DEV= 4.11s
SNY 1483 342 +iP 01 07 03.0 2 MDJ 15.5V 331 gr 01 14 34.0 3
eS 01 09 40.5 gt 7 - SNY 16.77 313 TP 01 14 50.0 3.5
LN Ms=4.6 15.0 135|WHN 219 274 cP 01 15 47.5 1.8
LE 14.0 L70|XAN 262 284 cP 01 16 27.9 1.1
CN2 162 349 cP 01 07 22.0 2.1
eS 01 10 22.0 4.0 1985 12 2
LZ Ms=479 140  3.6C O=07 14 353 + 0.13s
Bll 164 321 ¢P 01 07 23.0 0.4 LAT =41.17 N + 2.31km
eS 01 10 33.0 9.9 LONG=140.07 E + 2.29km
SMN my=4.9 8.0 DEPTH= 27 km + 0.62km
SME 6.0 STATIONS USED = 72, STAND DEV= 2.09s
MDJ 167 360 cP 01 07 29.0 3.3 Ms= 5.6/ 40, m,=59/ 8
T1Y i 4. 309 ¥ 01 07 36.8 1.7 MDJ 8.4 2NEF 07 16 38.4 —0.4
§S 01 10 56.5 =23 pP 07 16 43.5 ¥
LN Ms=35.1 15.0 pP 07 16 46.2 1.0
LE 15.0 S 07 18 12.5 —1.2
XAN 188 294 cP 01 07 50.0 -1.6 SS 07 18 25.5 )
eS 01 11 18.0 1.9 CN2 LI S289 ., +P 07 17 16.0 0.2
LN Ms=4.7 11.0 PMZ mz= 6.1 6.0 2.70
« LE 13.0 pP 07 17 21.0 Sl 3
BBC - 197 316 cP 01 08 01.0 —0.9 cS 07 19 13.0 =23
S 01 11 43.0 At LZ - Ms=54 140 183
LN Ms=428 16.0 1.59)|SNY 124 278 +P 0717338 0.8
LE 150 % ShAH&: o PMZ my=26.2 S8 22
QZN 202 248 cP 01 08 06.7 —0.3 PP 07 17 44.0 0.9
GYA . 20.5.271 +P 01 08 09.6 —0.8 ) i ¢S 07 19 57.0 58
B0 205 313 P 01 08 10.0 -0.8 $S 07 20 06.0 44
f PP 01 08 290  —24& - LN Ms=5.3 120 677
cS 01 11 49.0 -4.5 LB | 160 142
i LN Ms=4.8 150 1.404DL2 143 267 P 07 18 03.3 4.9
LE 130" 1530 PMZ " mg=06.2 30 . 3217
LZ Ms=47 G 1 L sP 07 18 120 2.8
284 cP 01 08 31.3 -1.6

S 07 20 43.0 6.2

—1235—

e~



h_

December, 1985 International
LN Ms= 5.3 100 648lQzH 241 234 P 07 19 52,0 1.9 - L ey
LE 100 312 S 07 24 07.0 4.4
BJI 182 274 +P 07 18 49.0 1.4 83 07 24 18.0 1.7
PMZ my = 5.6 3.0 1At LN Ms =54 120 iE2S
epP 07 18 55.0 0.6 LE 1.0 3.86
PP 07 19 05.0 2.8 XAN 256 264 cP 07 20 03.0 -1.4
¢S 07 22 10.0 3.3 pP 07 20 09.0 -3.2
esS 07 22 22,0 4.4 LN Ms =54 11.0  3.83
eSS 07 22 39.0 9.5 LE 120  2.00
SSE 182 243 +P 07 18 48.0 ~0.4 LZH 28.6 272 -iP 07 20 31.5 ~0.6
PMZ 1.4 pP 07 20 37.0 -3.0
pP 07 18 54.0 -1.2 ¢S 07 25 21.0 3.1
sP 07 18 57.0 -2.4 GZH 288 239 cP 07 20 35.0 1.8
S 07 22 11.0 3.5 S 07 25 24.0 4.9
sS 07 22 16.0 ~3.0 SMN 16.0  2.70
LN Ms=35.5 12.0 SME 16.0 2.70
LE 17.0 30.6 280 +P 07 20 47.5 -2.1 ‘
TIA 186 262 ¢P 07 18 53.0 0.5 ¢cPP . 07 21 53.0 34
pP 07 19 00.0 0.8 5S 07 25 58.5 -3.6
NJ2 193 249 -P 07 19 01.0 0.1 LE Ms=35.8 140 9.16
S 07 22 27.0 -3.8 CD2 309 262 cP 07 20 50.0 -2.4
LE Ms=5.8 B0 3 1] S 07 25 51.0 -1.9
HHC 21.5 279 +P 07 19 24.2 —0.1 LN Ms=5.9 11.0  7.46
sP 07 19 33.0 -2.7 LE 13.0 6.82
FE 07 19 46.5 ~1.6 LZ Ms=35.7 14.0 6.72
S 07 23 19.0 3.5 GYA ' 31.2 0252 4P 07 20 56.0 13
SMN mp=5.9 8.0 282 pP 07 21 06.0 3.2
SME ' 7.0, ae 1id S 07 25 57.0 —0.2
LN Ms=>5.6 110 5.13 LN Ms=5.9 130 6.80
LE 140  10.0 LE 13.0 8.40
TI¥ 216,270 =P 07 19 24.8 —0.6 QZN 339 239 ¢P 07 21 23.5 4.7
pP 07 19 33.0 0.0 PP 07 22 38.5 6.4
S 07 23 16.0 =S ¢S 07 26 47.5 6.3
sS 07 23 27.0 -3.6 LN Ms=35.6 125 310
SS 07 23 50.0 ~3.8 LE 13.0 310
LE Ms=5.4 11.0  496|KMI 348 254 cP 07 21 27.0 0.4
BTO 221 , 279 +P 07 19 35.5 —0.8 LE Ms=5.9 120 T%0
PMZ m, = 5.4 40  0.71WMQ 382 292 +p 07 21 54.5 —0.4
B b 1HNs - kel pP 0722017  -1.3
PP 07 20 03.0 -1.3 PP 07 23 28.0 2 8
. B APy 3.6 S 07 27 48.0 2.5
o8 07 23 46.0 ~5.1, LN Ms=538 170 775
LN Ms=35.8 13.0  820ILSA  41.0 270 cP 07 22 17.0 -1.6
LE 14.0 124 LN Ms=35.3 120 (108
LZ Ms=5.8 14.0  16.5 LE 13.0 1.2
WHN 233 251 i Wi I8 800 5« <17 KSH 479 290 +p 07 23 17.0 3.2
2 R 2330 3.5 | PP 0725100 58
158 07 24 08.0 T/
LN Ms=5.7 140  8.39 1985 12 2
. 13.0 942

O=14 12 32.4 e 0180 R
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December, | \O8S5ternationa
_ . IRy riekiansuniioan — m——SeTsSTTTol0gIca
LAT= 47§ S + 1.95km | 1985 12 3 Centre |
LONG=13366 E  + 2.80km |  O=00 12 13.2 t 0.11s
DEPTH= 32 km t 0.25km ‘ LAT=27.00 N T L73km
STATIONS USED = 18, STAND DEV= 2.62s | LONG = 140.57 F +  2.01km
GYA 406 321 P 14 20 106  —0.5 |  DEPTH=426 km £ 0.27km
XAN 45.1 331 ¢P 14 20 $1.6 1.6 [ STATIONS USED = 87, STAND DEV= 143
CDY 45530 » 14 20 50.4 -1.0 my=35.7/33
BJI 474 342 P 14 21 12.0 6.1 SSE 174 288 -P 00 15 50.7 0.7
CN2 489 13152 -p 14 21 17.4 —0.3 PMZ 1.0 0.15
MDJ 493 1356 ¢P 14 21 18.5 -2.1 | iS 00 18 45.0 -3.2
GTA 539 328 ¢P 14 21 54.2 -1.4 I SME my=3579 120 147
WMQ 636 324 ¢P 14 23 02.5 —0.6 | ScP 00 23 06.0 2.6
| PcS 00 23 40.0 —-4.6
1985 12 2 INJ2 195 290 +iP 00 16 13.0 0.8
O=16 45 00.9 + 0.128 ! P 00 18 03.0  -19
LAT=2843 N + 3.88km S 00 19 22.0 —2.9
LONG=140.62 E + 3.05km ' SME my=6.4 8.0 26.8
DEPTH= 27 km + 1.90km MDJ 19.7 . 336 =—iP 00 16 15.5 2.1
STATIONS USED = 26, STAND DEV= 2.53s | PMZ 20 3.53
Ms=4.3/ 6, my=82/ 6 | sP 00 18 08.5 2.1
SSE 17.1 284 P 16 49 00.0 0.3 | S 00 19 31.5 4.5
PMZ my=5.3 6.0 ! ScP 00 23 070  -1.2
PP 16 49 16.0 2.3 ] ScS 00 26 49.0 —0.8
csS 16 52 20.0 1.6 , 198 312 P 00 16 14.5 —0.1
¢SS 16 52 36.0 8.0 | PMZ my=5.7 50 1.45
LN Ms=42 12.0 ‘ sP 00 18 04.0 —4.0
MDJ 184 334 cP 16 45 140 =20 | S 00 19 260  -3.1
NJ2  19.1 286 +P 16 49 28.0 2.9 | SMN my=6.0 100 7.89
CN2 19.6 326 eP 16 49 27.0 -3.0 ! SME 100 108
TIA 213 297 ¢P 16 49 47.1 —0.8 199 269 -iP 00 16 15.5 0.2
esS 16 53 51.0 0.3 sP 00 18 05.0 -3.9
LE Ms=4. 10.5 iS 00 19 30.0 -1.0
WHN 230 282 +P 16 50 07.0 2.6 20.3 321 --iP 00 16 20.2 0.5
¢S 16 54 18.0 9.3 PMZ 30 3.12
SME my =52 8.0 0.6 sP 00 18 16.0 1.4
LE Ms=4.5 120 0.73 S 00 19 41.5 3.3
BJI 23.2 306 cP 16 50 06.0 -1.0 SMN my=6.2 9.0 129
PMZ my=5.0 60 04 SME 80 105
esS 16 54 28.0 1.6 ScS 00 26 51.1 —0.9
TIY 253 299 cP 16 50 21.5 -5.7 CN2 20.7 328 —-iP; 0016 23.0 —0.8
5 16 54 49.0 0.7 PMZ my=>5.8 40 1.40
LE Ms = 13.0 0.3 isP 00 18 18.0 -1.9
HHC 268 305 P 16 50 40.0 -1.2 S 00 19 41.0 —4.4
XAN 276 290 cP 16 50 49.3 0.7 iPcP 00 20 15.0 ~0.8
BTO 278 304 cP 16 50 51.5 0.7 iScP 00 23 09.4 -1.4
cS 16 55 40.0 9.0 ScS 00 26 50.0 -3.5
CD2 320 284 cP 16 51 25.6 -2.4 TIA 219 301 cP 00 16 34.4 ~0.7
GTA 353 299 P 16 51 54.4 il sP 00 18 35.0 0.9
WMQ 447 305 P 16 53 14.8 0.9 S 00 20 10.0 4.8
' ' SMN my=6.3 3as




WHN

BJI

GZH

1R

HHC

XAN

BTO

QZN

December,

23.2 283

24.0 309

25.0 267

26.0 301

276 301

28.1 292

28.6 306

29.3 261

1985

SME
o |
PMZ
isP
iPcP
N
SMN
-pP
PMZ
esP
PcP
S
SMN
SME
ScP
ScS
+P
sP
PcP

SME
ScS

PMZ
sP

SMN
SME

+1P

00 16 47.2

00 18 48.06
00 20 20.6
00 20 34.5

mg = 3.3

00 16 53.0

mn: 52

00 18 56.0
00 20 21.5
00 20 36.0

my=35.8

00 23 18.0
00 27 04.5
00 17 03.0
00 19 03.0
00 20 25.5
00 20 51.0

m5= 5.4

00 27 09.5
00 17 11.0

mp= 3.6

00 19 13.0
00 21 08.5

my=35.6

V0 17 25.0
00 18 40.0
00 19 28.0
00 21 33.0
00 17 29.4

mp=35.6

00 18 46.0

00 19 36.0
00 21 39.0

mg=35.5

00 27 23.0
00 17 34.5

00 18 51.0
00 19 37.0
00 21 53.0
00 24 06.0
00 17 41.8

00 18 53.0

00 19 47.0

00 22 04.0

0.3

1.0
(.2
1.2

=],

0.2
1.0
3.1

-].4

=1.5
0.6

=]

1.0
wa

e ! B2
=0.7

e
=21

ol 1.
=2.7
o
=3, 2
=~{).9

0.8
1.4
—4.7

0.4

—0.6

0.8
=2.6
0.8
2.3

- 08
“«3.9

0.2

7.0

0.9

6.0

6.0

10.0
9.0

9.0

5.0

8.0
9.0

4.0

1.0
10.0

3.0

13.7

(.38
GYA

1.7

0.53

3.08|CD2
L YL )

LZH

1.9 KM

1.39

1.6
2.4¢€
GTA

1.0

1.21J| LSA
1.89

1.15

WMQ

30,2 &7

324 286

324 295

340 275

36.0 301

43.3 286

45.5 306

SMN
SME

PcP

SME

PMZ

PcP

SME
158
—iP

PMZ

PcP
PP
sP

ScP

My ™= 5;6

00 24 24.0
00 17 49.0
00 19 07.0
00 19 14,0
00 19 57.0
00 20 38,0
00 22 14.0

meg=35.7

00 24 50,0
00 27 35.0
00 18 07.0
00 19 24.0
00 19 30.0
00 20 09.0
00 22 46.0
00 18 08.0
00 20 43.0
00 27 45.0
00 18 21.0

00 19 43.0

00 20 29.0
00 23 12.0

mg=35.8

00 25 33.0
00 25 57.0

00 18 37.0

mp=13.5

00 19 56.0
00 20 445
00 20 54.0
00 23 450

m3= 5.4

00 23 57.9
00 28 02.1
00 19 38.1
00 21 00.0
00 21 45.0

00 25 31.0

mg=34

00 28 01.5
00 19 54.2

00 21 17.0
00 21 25.0
00 21 48.0
00 22 04.0
00 24 35.0

B

—0.1

_Internaticqs
Selslgolooled

Ceﬂgre 225

2.6
-().2
153
1.1

2.8
0.5

-3.3
5.0
3.9
B
B
~0.9
=01
~4 ]
~=5.0
0.0
—0.4
03
0.0
2.0
L
1.9
—4.0
6.0
1.8
—4 .3
—-1.0
4.0
=k
—{). 2
0.3
—1.6
9.0
0.0
=1.9
0.2
0.8
-1.1
-3.6
9.0
2.5
0.2
2.3
0.2
0.1
O3
0.3

— ﬂ-|. '.-"—
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Internation
December,  1988cismologic
PcS 00 25 17.8 n LN Ms =42 120 0.60 -
S 00 26 01.2 -].9 NJ2 19.2 4286 +P 09 19 55.0 0.8
$S 00 28 30.0 ~1.1 SNY 19.2 318 cP 09 19 54.0 -0.5
ScS 00 29 02.0 0.7 CN2 19.8 343 8P 09 19 54.0 -39
SS o0 29 390 8.0 ¢S 09 23 230 -8.9
KSH 544 301 —ip 00 21 02.0 0.9 LE Ms=4.4 11.0  0.60
PcP 00 21 §9.0 11 TIA 10 21,3 107 op 09 20 14, -2.6
sP 00 23 11.0 -1.7 WHN 230 281 cP 09 20 35.5 1.7
iS 00 28 10.0 3.9 PMZ my= 5.4 510~ 0.4
ScS 00 30 05.0 2.8 S 09 24 41.5 3.0
eSS 00 31 58.0 3.6 SMN ' mg=35.4 6.0 0.76
LN Ms=4.5 12.0 0.4%
1985 12 3 LE 13.0 0.59
Q=01 20 023 + 0.15s BJI 23.4.% 300 ep 09 20 37.0 1.3
LAT=28.19 N + 2.05km PMZ mg=35.0 .0 033
LONG=141.10 E + 2.74km €S 09 24 41.0 —1.7
DEPTH= 92 km + 0.76km SMN my= 5.1 7.0 0.44
STATIONS USED = 14, STAND DEV= ]1.88s SME 8.0 0.36
mg=5.5/ 6 TIY 253 298 +P 09 20 540  —2.0
SSE 176 284 P 01 24 00.0 -2.5 $S 09 25 28.0 =15
eSS 01 27 28.0 -9.8 LE Ms=4.3 150 0.43
LE 10.0  0.64|XAN 276 289 cP 09 21 15.2 =25
NJ2 19.6 V281 P 01 24 26.5 0.5
PMZ my=5.5 6.0 1.7 1985 12 3
S 01 28 04.0 7.1 O=10 50 24.6 * 0.09s
LN a0 AR LAT= 1.62 N * L7Skm
WHN 234 232 +P 01 25 06.5 2.6 LONG= 97.23 E * 1.49km
PMZ my=15.6 30 1,531  DEPTH= 27 km * 0.34km
S gyl 29 125 6.1 STATIONS USED = 56, STAND DEV= 1.10s
LN | 10.0 0.5 Ms=5.1/19, mg=5.3/ 1
TIY 258 295" P 01 25 28.0 1.4 QIN A3 35" ¢B 10 35 119 0.7
PMZ my=5.8 5.0 Mo cS 10 58 55.0 —6.2
S 01 29 48.0 1.8 SS 10 59 25.9 =7
LE 13.0 047 LN Ms=35.0 130 1.30
XAN 28.1 290 ¢P 01 25 48.0 47 LE 140 220
BTO 28.3 304 +P - 01 25 50.0 0.0 KMI 24.0 ' 12 FP'S 10 55 40.0 1.9
eS 01 30 28.0 —0.7 PMZ my=5.3 40 0.50
GXAL 306 2]5 F 2401 26 11.6 1.6 PP 10 56 11.0 —0.4
eS 10 59 53.0 2.5
1985 12 3 LN Ms=35.1 140 2.81
O=09 15 28.4 * 0.11s OYRe 26,3119 =p 10 56 00.4 0.1
LAT=28.58 N * 3.24km PMZ | 1.2 %010
LONG=140.71 E +  2.14km pP 1 1. 110 56 080 'i=0.]
DEPTH= 17 km '+ 1.21km S 11 00 28.0 —0.5
STATIONS USED = 17, STAND DEV= 2.36s LN . Ms=S$4 150  4.90
Ms=4.3/ 17, m,=53/ 5§ LE 150 1.80
SSE 17.0% “283 AP 09 19 27.0 -=1,9" LZ Ms=5.1 160 290
PP 09 19 430 0.3 LSA . 28.5 7349 +P © W 00 $6 2041 <02
BN s 2980 13 o83 11 01 04.08 =15
" 3 09 22 56.0 ) CD2 29,8 11 eP

10 56 31.0

o |11

—1239—




_

INnternationa

December, 1985 | Ao M DU RN B Seismologica
WHN 33.0 23 eP 10 5? 00.0 ~0. 1 1985 12 3 entre
pP 10 57 07.0 ~1.3 O=12 42 34.5 boo0.13s
eS 1102 15.0 -1.2 LAT=11.19 S o 2.66km
[N Maw 8] 18,0 “3.18 LONG =118.24 E t  3.49km

XAN 341 17 +P 10 57 07.8 -1.2 DEPTH = 33 km t  0.19km
pP 10 57 16,0 -1.3 STATIONS USED = 56, STAND DEV= 173
S 11 02 30.0 ~1.2 Ms=4.2/ 2,
LN Ms = 5.3 140 234IGYA 39.1 343 P 12 50 02.0 1.3
LE 8.0 Sl ML. T 3Dk 83T P 12 50 03.5 2.3
LZH 348 9 +iP 10 57 15.5 —0.4 WHN 41.7 355 P J2 50 22.5 0.6
NJ2 365 32 ¢P 10 57 29.0 —0.7 csS 12 56 43.0 -3.8
LZ Ms=5.1 16.0 1.70{|SSE 42,1 4 cP 12 50272 1.4
SSE 370 35 cP 10 57 36.0 1.5 cpP 12 50 37.8 2.2
cpP 10 57 43.0 0.3 esS 12 57 04.0 5.2
¢S 11 03 20.0 1.6 LN Ms=4.] 18.0  0.14
esS 11 03 31.0 -1.1 NJ2 430 1 +P 12 50 34.0 1.1
LN Ms=5.4 19.0  3.5€ LZ Ms=4.4 200 0.30
LE 16.0 1.38|CD2 441 342 P 12 50 42.3 0.3
GTA 377 3 +iP 10 57 39.6 —0.4 PMZ 12 14
5k S b e [ RR 10 57 47.1 0.0 XAN 458 349 -P 12 50 55.2 —0.7
S 11 03 37.5 2.7 LSA 483 328 -P 12 51 16.0 0.3
LN Ms=35.5 150 2.50|lLZH 489 345 -—iP 12. SIE 25D 0.7
LE 140 2.10§TIY 489 354 ¢cP 12 51 19.3 —0.9
BTG 405  150.P 10 58 04.0 0.7 BJI 51.0 358 cP 12 51 35.5 —0.3
epP 10 58 11.0 —0.5 BTO  52.1 352 cP 12 51 43.6 —0.5
e$ 11 04 09.5 —1.1 HHC 52.1 354 cP 12 51 43.6 —0.9
LN Ms=5.2 170 1.40SNY 530 5 ¢P 12 51 49.6 -1.0
LE 150 090|GTA 532 342 —iP 12 51 522 —0.1
i LZ Ms=5.1 170  1.50|CN2  55.1 6 +P 12 52 04.5 -1.9
BJ1I 419 22 ¢P 10 58 16.0 s 10 MBPJ 5565 10 —P 12 52 15.0 -1.2
epP 10 58 24.0 0.6 WMQ 614 335 —P 12 52 50.4 —0.1
esS 11 04 49.0 3.4 KSH 639 325 cP 12 53 08.0 1.0
LN Ms=48  17.0 0.7¢
KSH 423 335 cP 10 58 20.0 1.4 1985 12 3
cPP 11 00 01.0 1.4 O=17 52 23.9 +  0.24s
WMQ 429 350 +iP 10 58 23.5 0.7 LAT= 694 N £ 13.78km
pP 10 58 31.0 —0.1 LONG= 7297 W + 3.16km
S 11 04 45.0 0.5 | DEPTH = 154 km + 2.54km
LE Ms=4.8 20.0 0.87 STATIONS USED = 37, STAND DEV= 2.57s
Ik r40.5 2T 7P 10 58 51.1 —0.8 WMQ 1265 17 +PKP 1811 10.3 0.3
csS 11 05 52.0 0.0 CN2 1268 343 c¢PKP 18 11 09.6 —0.8
LE Ms=53 160 L75|/HHC 1323 355 c¢PKP 18 11 22.0 0.9
CINZ' . 489 1, 27 +P 10 59 09.6 ~1.1 BTO 1326 357 cPKP 18 11 22.4 0.7
pP 10 59 17.0 -2.0 GTA 1334 8 +PKP 18 11 259 23
¢S 11 06 07,0 ~5.0 LZH 137.1 4 cPKP 18 11 31.5 1.5
- LZ Ms= 16.0  1.50fXAN 1392 358 PKP 1811 288 =50
MDJ 51,5 29 P 10 59 30.0 —0.3 CD2 1422 - 5. cRKPY%, 18 11 388 -3.7
pP 10 59 39.0 0.3 GYA 146.8 1 PKP 18 11 48.6 1.6
S 1106 440  -35 PPKP 18 12 32.0 5.5

KMI 1479 7 c¢PKP 18 11 50.0

1.1




_

_Internatid
1983 Saismoloc

22 03 00,8 41 entre

December,

GZH 149.5 348 ¢PKP BT 184 330

18 11 54.5 3.2
LN M3 = 4.4 150  0.50
198§ 12 3 L IE 15.0 (), 40
O=18 12 39.5 + 0,068 GNE 18R L b P ¢2 03 03.3 3.2
LAT=36.68 N +  0.55km eSS <2 006 46.0 =1.]
LONG= 26.87 E +  0,62km LE Ms = 4,3 15.0  0.80
DEPTH = 153 km +  0.36km MIDJ 20.4 16 c¢P 22 03 21.0 | 97
STATIONS USED = 11, STAND DEV= 0.97s GTA (234 313 8P 22 03 49.6 ~0.,9
WMQ 46.1 61 =P 18 20 51.0 0.8
GTA" 564G 63 P 18 22 04.6 —0.7 1985 12 4
O =01 41 13.5 + 0.15s
1985 12 3 LAT=28.23 N t  2.98km
Q=21 S8 40.3 + 0.43s LLONG =141.15 E + 3.05km
LAT=25.14 N + 3.66km DEPTH= 33 km +* 1.33km
LONG=121.97 E + 2.89km STATIONS USED = 24, STAND DEV= ].94¢
DEPTH= 1§ km Ms=4.4/ 8, mg,=55/ 8
STATIONS USED = 33, STAND DEV= 2.64s SSE 17.6 284 -P 01 45 18.0 0.2
Ms=42/ 8, M, =39/15, sP 01 45 30.0 —0.1
QZH 3.1 267 cPn. 21 59 27.4 -1.3 ¢S 01 48 30.0 —0.6
Sg 22 00 12.2 —4.2 csS 01 48 43.0 0.4
SMN M, =3.6 09 0.3 ¢SS 01 48 53.0 0.8
SME | 0.91 014 LN Ms=4.2 14.0 0.58
LN Ms=3.7 11.0 281 {MDJ 18.8 334 +P 01 45 33.0 0.3
SSE 60 354 cP 22 00 10.0 —0.7 cS 01 48 59.0 1.3
LG, 22 02 01.7 4.2 DL2 194 308 +P 01 45 40.0 0.2
NJ2 74 339 +P 22 00 29.5 -1.4 cS 01 49 15.0 3.5
LG, 22 02 47.0 B NJ2 19.7 287 +iP 01 45 42.5 0.0
SME M, =5.0 137 Dise PMZ m,= 5.6 50 1.60
S8 B 35T Py 22 00 41.0 0.0 sS 01 49 29.0 0.0
csS - 22 02 25.0 3.9 LE Ms=4.6 50 0.40
SMN M, =4.5 13 0.13[SNY' 197 318 cP 01 45 43.0  —0.3
WHN 86 310 P 22400 2055 . ~58 pP 01 45 51.0 ' t=0.6
esS 22 02 3R ~1.8 cS 01 49 28.0 9.2
iLG, 2203 13.7 2.4 LE Ms=4.3 140 0.70
LG, 22 03 21.0 -3.9 CN2 % 201087905 —p 01 45 43.0 -3.5
LN Ms=4.0 8.0  0.77 ¢S 01 49 150 -10.0
GYA 138 279 cP 22 02 01.6 2.7 LN Ms=44 100  0.60
SS 22 04 53.0 43 QZH -~ 204, 266¢ 4P 01 45 50.0 —0.8
LN Ms=4.6 TR ' PMZ my=>5.6 S0, .. 3%
LE 8.0  0.6C csS 01 49 45.0 —0.9
XN 144 311 eP . 402202 06.0 0.0 |IWHN 234 282 P 01 46 22.0 1.0
LG, 22 06 30.0 5.2 ' PMZ myt= 5.7 W S T,
LE Ms=4.0 1.0 045 sP 01 46 34.0 -0.1
TIY 8 1 329 - eR 22 02 17.5 4.4 PP 01 46 52.0 —0.6
LN Ms=4.] 1'1:0%% 0.33 sS 01 50 43.0 -0.5
LE-S . 10.0 0,29 SS 01 51 24,0 3.0
BJI 15.6 ‘343} cP s 070238 1.4 9 3 LE Ms=46 10.0 0.66
CD2 111294 <P 22 02 44.0 3.6 | BU1 23.7 306 cP 01 46 24.0 0.4
: ok ERSN NG 532506 0700 . =2.0 * PMZ mp= 352 30 0,54
KMI ;4 274 e ' ~- 2202 490 4.1 eS 01 50 39.0 §7

R Lol
1*4*';.:' E-I,_l, 3’ “l >

"
I'is

»



_

International

‘December, - 1985 . S | |
(5 SMEO St mgies.d 70 039 1988 12 4 Centre
o e od .\ SME /| 80 052 ©O=11 03 281 + 0.185s
GZH © 256 265 oP 01 46 40.5°  —0.8 LAT=13.92 § t  2.14km
X esS U (1 01 51 236 X 4.0 LONG =166.21 F +  2.46km
TIY 2587299 PR ob 20 (0l 46 45.0: 1.3 DEPTH = 35 km +  0.55km
' | . § ] 01 S1 095 1.7 STATIONS USED = 32, STAND DEV= 1.94s
¢ o8 1L €0 501 51 2355 01=0.2 | Ms=5.0/ 1,
LND £0 ¢ Ms=4.4i" 1101.0 026|NJ2 644 316 +P 11 14 04.4 1.0
LE 1.0 025|WHN 66.6 312 cP 11 14 18.5 0.7
XAN 28.1 290 P 0147 060 & 141 CN2  68.4 329 +P 11 14 30.0 0.9
¢S #1.001'51 47.0 25106 1 ¢S 11 23 28.0 0.8
BTO 283 304 cP mdRe.501:47 06.0 ¥ EQHK~ /s W 4 Ms = 5.0 150  0.40
¢S i 7(.01 151 49,04 25, 1.2 ) GYA 704 305 cP 1114 408 « ¢ 018
CD2 325 284 ¢P mdil. 10147 46.0md £F 1911 BJI 71.0 322 cP 11 14 45.0 0.2
GTA 3518 - 2991 ¢P~ 401~ 01 88-1010 12 ) =261 IPIY . 72.0° 318 B 1114 51.0 0.3
R \R2= XAN - 134 317 ¢p I 14 'S3i0wt 212
1985 1204 041 &b il =, B85 At HHC 743 320 cP [EN 5042741 <03
0=02 50'40.6 07 2M+100.138 4 RTO  75.1 319 cP 1115062 %32
LAT= §&61 S + 1.0dkm LZRSY 778 7313 B 1 IS ol
LONG = 149.87 E: [ ~i%01.42km . GTA 814 314 P 11 15 44.2 0.5
DEPTH=118 km "~ ' % (0.92km - WMQ 914 315 P 11 163245 D5
STATIONS USED!= 42, STAND DEV= 1.32s
QZH 43.0 0316 oPif 2> 102 58 305% M 50541 1985 12 4
WHN 495319 B¢ =& 102 59 2.0 0.7 0O=13 53 04.6 + 0.11s
DL2  51.4.0332 cROk 21 102 59 368 %07 0.6 ¢1 LAT= 0.42 N +  0.85km
TIA  51.2:326 cPi! v& (02 59 385 0.4 LONG= 98.87 F +  4.69km
MDJ 5320342 —Pit ¢t 102 59 4916~ T 0.T ¢i DEPTH= 82 km +  1.29km .
€N2 17539 338 i¢P. 02 59 54,5 0.0 STATIONS USED = 15, STAND DEV= 1.53s

BJI 55.01 1329 c¢PY" v~ 103 00 03.0 0.5 YA 27.068516  op 13 58 41.8 1.0
KMI 0351 306.%cRN 03 00 04.0' 0.9 AN [4TLE15 R 13 59 48.6 —0.7
XAN 5523319 R ik 26 103 00 049: #1203 01 [GTA. " 388 "1 P 14 00 23.6 0.1
CD2  57.b.0312 cP!? 26- 103 W 15%;  —1.8 BT " 413 2413 kP 14 00 45.2 1.5
LZH  59.8.¢318 R4S 2& 103 00 37.5: 1.0 HHC 419 14 +P 14 00 50.8 31
GFA 0683 -3196P:M 03 010501 . —14 | BJI 42 5% 20 "ep 14 00 55.0 1.5
? ¥ 0.0k 28 10 . St (% Y DL2 436 26 cP . 14 01 00.0 —2.8
1985 120il4- G721 v iy 7 WMQ 443 348 ¢cP 14 01 07.3 -1.6
un O=04 52 3665 .14 + 0.15s | ON2 a9 3N2s. i 14 01 46.5 —0.9
LAT=4349 N (02 ¢it111.62km I~ 07 & 0r : pP 14 02 07 .4 0.4
| LONG= 85.07°E .:n + 1.38kimi/"
DEPTH =20 kmi/ 0+ UL 10, 1985 12 4
STATIONS USED .= '8)) STAND DEV = '3.8§s = O=17 06 48.6 +  0.09s
oy AT EMy=3.9/ 5, L4 LAT=19.82 S + L.81km
WMQ 1.9 79 —=iPd - 104 53 13.8 2.8  LONG=177.14 W +  0.93km
4.0 SgC7 4% 104 53 436 6.2 DEPTH =341 km + 1.12km
KSH  7.9.0243 cPg! 07 i04 55 02.4. 5.5 STATIONS USED = 25, STAND DEV= 1.31s
GTA 1184105 cP+t (7 i04 55 2507 =29 MDJ 804 325 ¢p 17 18 248 -0.2 '
0d.0 00 OFLGY 04 58 49.0 g GIND2 82,3 1322 ieb 17 18 33.4 -1.1
_ O M ok 10 1o AL TE1.0 0I030HGYA  87.0 299 op 17 18 59.0 1.0
#el 0% - ‘SMBE 1.0 0.03ITIY 874 312 oP 17 19 01.0 1.0
' (2 - 04802 10 2 XAN 884 307 p 17 19:089. > bR T




198§ 12 4

O0=17 42 54,0
LAT=28.15 N

LONG=140.71 E
DEPTH= 37 km

STATIONS USED = 20,

Ms=42/ 6,
SSE 7.2 283
MDJ 187 33§
DL2 il 309
NJ2 193 284
CN2 95 326
TIA 21.5 298
WHN 23.1 282
BJI 23.4 307
TIY 25.5¢ 299
XAN 278 290
BTO  28.1 304
P2 325 168
GTA 35529

1985 12 5

0=03 22 15.0
LAT=24.28 N

P
e
$S
SS
LN
+P

S

+P

S

+iP
PMZ

PMZ
PP

sS
LN

cP
PMZ

SMN
SME
Er

$S
LE
cP

LN
LE
ey
cP

+ 0.16s

+  Y.64km
+ J.13km
+ 1.50km

mn“‘ 514 .*ff 8

17 46 540

17 50 06.0

17 50 17.0

17 50 27.0
Ms=4.2

17 47 09.0

17 50 32.0

17 47 18.5

17 50 53.0

17 47 20.0
My =3.)

17 51 03.5

17 47 22.0

17 47 32.0

17 50 58.0
Ms=4.4

17 47 41.5

11 47 5715
mg=35.5

17 48 34.0

AT 52 131
Ms=4.2

17 48 02.0
mg= 5.0

17 52 15.0
mp=3.2

17 48 20.5

17 53 02.0
Ms=4.2

17 48 40.8

17 48 45.0

17 53 29.0
Ms=4.5

17 49 20.7
17 49 48.0

+ 0.20s
+ 0.90km

LONG=122.74 E  t 3.50km

0.3
s B
1.8
3.6

o’
gl
1.3

T
1.1
1:3
=3.0
-1.8
-5

~4).3
0.2

6.2
—4.9

0.8

6.5

4).5
2.6

=153

0.3

3.9

—0.4
=2

STAND DEV = 12,268

12.0

4.0

10.0

5.0

10.0

5.0

6.0

7.0

15.0

14.0
14.0

fF &

)

SSE

E

I3

|
69 349

¥} 1

Y

1985 12! (S
D =08 25 45.6

LAT=234.88 S

‘) LONG =108.70 W
DEPTH= 10 km 0% '/ || b
STATIONS USED = 20,!! STAND/DE

1
|
¥

DEPTH & (10 km © 07 af 1
| STATIONS USED & /6,!! STANIY/DEV = 4.19s
: M #3.4 /7 5, /1

¢cP 3 24 01.0 1.7
LGs1 V1 03 25 58.01c 0&3.0).8 (7 |
L M %3.6 1.2 0.029
il G PBE 30} 11
A Tf 1] LW
+ 0.188 .1/"
L UE 185,44km
+ 8.12km (-
a 548 |

December,

o

i { y r

nke 0 Seisgnologica

Vi= 3,33 /(.

*®Internationa

Centre

0.54|
BJI 1443 292 cPKP ' 08 45205/ —2.6
TIY 1469 287 cPKP 08 452997 1.3
HHC 1479 293 c¢PKP 08 45 31.0¢ 1.7
GYA 148.61 264 PKPs #/ 08 45 356+ C(Fl400i 17
BTO 149.00 292 cPKP i 08 45 3269 <7'1.4".7! ?
XAN 1491 279 c¢PKP 08 45 28/64 —2.6
KMI 1512259 cPKP, ' 08 45 41,0 (1,50 ! a
“llcp2 1525 271 PKP/ 08 45 36.00 —0.4
GTA 15697 290 cPKP i 08 45 41.0 - ~=1.470. i
‘ _ () | b | Y V]!
o.50f 1985 12. /5 1 4o LES |
' 0=09 46309 . (® 10098 ;
LAT=29.38 N + (0.89km ! 17 :
115l LONG=102.21 E + 0.62km
' DEPTH= 24 km + 0.28km 25
STATIONS USED = 6,0 STAND DEV=:4.14s
0.30i M, =34/ 2, L DEbE T2
flcD2 20 41 ePg mA¢4.09 47 05.8 1 +1S0.4=:0700)
0.33(| Sg md4oK 09 47 32.0 md (430 1T il
8.0 = ISV T2 M, =36/ - 10.6 0.5l
0.34{| SME LR 0.4 0.50
0.30)| KMI 43 173 cPg!i "1 09 47 440! =260 - 1w
GYA 490125 cPnif 20 09 47 45.8%2 2.1
Sn (% 0 09 48 4681 (5400 AT
0.3 SMN 0 L M=l 1.2 0.030
| SME 1.2 0.020
; 2 Lh 2Re
t 1985 12 § a2zl .0 ¢ a.ad ol $1 =0
. 0=11 35 03.0 o440, 50.10s /028 = TAl
LAT=21.98 N mdd.C1.57km A ET.OBE = UM O
LONG=121.92 E & 01.12km 4 $& = b4

DEPTH=124 (kin(| /12 L1LJkm 120 2w 10
STATIONS USED = S§§,

QZH

b 0 My =4.§!/12, -

t 42 315I&=Pora 11 36 0% 89
W SMN. af oi M, %44
b (=

SME: ¢i ¢

?
o

STAND DEY= L.T2s "

i

LR K. e
-3
04 074
0.4

0.60

—1243—




=

INnternationa

O=13 02 06.6

r 0.10s

Dceember, 1985 a3 SO —Seismalagica
GEN B0 20 P 11 36 5.9 2.0 csS 12 14 04.0 -1.8Centre
iS 11 38 21.4 ~5.8 5S 1214 13.0 0.3
SMN M, =4.8 1.0 LE Ms = 4.3 8.0 043
SME 1.1 0.23)IDL2 189 308 cP 12 11 10.0 2.2
 SSE 9.1 356 ¢P 11 37 14.0 1.3 NJ2 19.2 286 +iP 12 11 12.0 I
SME 1.0 0,02 PMZ mp=23.4 6.5 1.30
NJ2 104 345 -P b 39818 1.6 5 12 14 41.0 1.1
WHN 109 323 +iP 11 37 36.2 ~0.4 SS 12 15 02.0 -4.0
PMZ 1.0 0.070|SNY  19.3 318 cP 12 11 .30:0 ],
cS 11 39 320  —4.7 ' pP 12 11 19.5 0.3
SMN 1.0 0.063 csS 12 14 53.0 ~0.9
QZN 11.7 258 ¢P 1137 330 4.9 LE \ Ms=4.2 14.0  0.47
GYA 146 291 P 11 38 30.0 5.0 N2 19.6 325 P 1218 128 -2.9
S 11 41 02.0 -1.6 pP 12 11°'220 —0.9
SMN 1.6 0.13 cS 12 14 40.0 -9.0
SME 1.6 0.08 LE Ms=4.3 100  0.50
XAN 16,6 319 +iP 11 38 50.8 1.0 QZH 20.1 265 +P 82 ‘11 210 4 0.7
TI1Y 17.7 335 P 11 39 03.6 0.5 pP 12 11 29.0 0.3
PMZ 1.1 0.08C S 12 15 00.0 1.1
EDR - ARScan e 11 39 11.8 —0.6 SS 1215 22.0 —5.6
BJI 18.7 346 cP 11 39 13.5 —0.4 TIA 21.3 297 ¢P 12 11 33.4 0.1
HHC 208 337 -P 11 39 354 —0.5 PMZ my=5.1 50 0.49
LZH  21.1 316 +iP 11 39 40.0 0.5 cS 12 15 30.0 6.2
BTO 21.1 334 ¢P 11 39 39.4 —0.2 WHN 230 282 ¢P 1211 529 2.4
GEAS 256 -1 P 11 40 22.5 —0.7 PMZ my 2455 50 EBIS
WMQ. 357 316 P 11 41 513 0.3 pP 12 12 00.0 1.1
sP 12 12 00.0 -29
1985 12 5 sS 12 16 09.0 0.0
O=12 02 30.5 + 0.13s LN Ms=4.7 10.0  0.40
LAT=44.30 N +  0.55km LE 120" 0
LONG= 82.14 E + 0.89km BJI 23.3 306 cP 12 11 53.0 0.7
DEPTH= 12 km + 1.86km PMZ migs5.2 50 0.54
STATIONS USED = 6, STAND DEV= 3.88s csS 12 16 10.0 -2.9
M, =38/ 3, GZH 1252 2647 %P 12 12030 -4
WMQ 40 95 cPg 12 03 41.2 w0, 7 cS 12 16 30.0 =31
Sg 12 04 36.6 —0.2 TIY 253 299 P F2:-125184% 0.9
GTA . 140104 P 12 05 50.3 ~1.7 PMZ M =5.8 40  1.03
LG, 12 09 56.6 5.0 sS 12 16 53.0 4.1
LN Ms=44 10.0 0.24
1985 12 5 LR 100 023
0O=12 06 46.6 * 0.15s HHC 268 305 cP 12510 258 —0.8
LLAT=28.50 N + 2.06km XAN 277 290 cP 12 12 344 0.3
LONG=140.73 E +  2.69km BTG  «37.9 304 P 12 12 37.0 0.9
DEPTH= 32 km + 0.70km osP 12 12 48.0 08
STATIONS USED = 29, STAND DEV= 1.745 eS 12 17 200 39
Ms=4.4/ 1, m,=52/ 9 T 3 A2 18 2388 Sep 12 13 -1.9
SSE 17.2 283 ~P 12 10 46.0 0.4 GTA 354 299 ¢P 12 13 397 -2.1
PMZ my= 5.1 8.0 © IO
sP 12 10 57.0 —0.7 1985 12 § .
cS 12 13 54.0 —0,1




_

December, {198Mternationa

o ke N
LAT=13.97 8 +  1.46km $

LAT=1381 S +  1.08km

o

CD2

32.6

cP

23

16 01.8

=2.U

Centre
LONG =166.01 F + 1.39km LONG = 166,44 F +  1.86km
DEPTH= 47 km +  0.87km DEPTH = 20 km t  0.84km
STATIONS USED = 2§, STAND DEV= 1.24s STATIONS USED = 18, STAND DEV= 1.76s
NJ2 642 316 +P 13 12 39.2 0.0 SNY  68.1 327 c¢P 21 41 48,0 0.8
WHN 664 312 +p 13 12 53.0 ~0.7 CN2  68.6 329 ¢P 21 41 55.0 5.0
CN2 632 330 -p 13 13 04.4 -0,7 BJI 71.2 321 ¢P 21 42 05.0 ~0.9
GYA 702 305 P 13 13 17.6 0.3 T1Y 72.2 318 P 21 42 12.6 0.4
BJ1 708 322 ¢P 13 13 20.0 —().7 XAN 72,6 313 c¢P 21 42 14.2 =4, Z
T1Y 71.8 318 ¢P 13 13 25.3 ~1.4 CD2 749 308 P 31 42 258 ~2.1
XAN 722 313 —iP 13 13 28.8 0.3 GTA 81.6 314 P 21 43 05.0 0.4
CD2 745 308 cP 13 13 40.8 -1.9
EZH 768 313 P 13 13 57.5 1.4 1985 12 5
GTA . 812 34 P 13 14 20.0 0.3 0 =23 09 33.2 + 0.10s
LAT=28.46 N + 2.85km
1985 12 § LONG =141.34 E + 5.09km
O=14 59 59.1 + 0.07s DEPTH= 42 km + 2.91km
LAT=37.01 N + 1.41km STATIONS USED = 24, STAND DEV= 2.68s
LONG=116.10 W + 1.37km Ms=4.2/ §, m,=53/ 8
DEPTH= 10 km SSE 17.755283 P 23 13 38.0 —0.4
STATIONS USED = 26, STAND DEV= 1.10s SS 23 17 12.0 —-1.6
MDJ 794 319 -P 15 12 07.5 —0.4 LN Ms=44 100 0.64
CN2 821 320 cP 15 12 21.0 -1.4 DL2 194 308 cP 23 14 00.0 1.3
SNY 845 320 —iP 15 12 35.6 18 SNY 19.7 317 cP 23 14 00.0 —-1.7
HHC 91.1 326 +P 15 13 07.0 0.7 pP 23 14 10.0 -1.1
BTO 920 327 ¢P 15 13 10.2 —0.2 csS 2317 47.0 —2.8
TIY 932 323 ¢P 15 13 15.4 —0.6 LE Ms=4.1 1502 "0.4]
XAN 978 324 cP 15 13 34.4 -2.7 NJ2 19.7 286 +iP 23 14 02.5 0.0
PMZ my=235.5 5.58« 1.30
1985 12 S esS 23 17 49.0 S g
O=18 27 38.0 + 0.10s CN2 199 324 cP 23 14 00.0 —4.5
LAT=20.58 S + 1.91km QZH 20.6 265 +P 23 14 10.0 -1.7
LONG=178.30 W + 0.98km TIA 21.8 297 cP 2314828 D 1.1
DEPTH =563 km + 1.64km PMZ Mig=5.1 50 049
STATIONS USED = 36, STAND DEV= 1.32s WHN 236 282 cP 23 14 43.0 1.9
GZH 795 299 -P 18 38 50.0 1.5 PMZ mg=3.5 6.0 3113
NJ2 79.7 310 +iP 18 38 50.3 0.7 eS 23 18 53.0 4.2
MDJ 804 325 -P 18 38 53.0 —0.3 SME m,=35.2 9.0 0.64
SNY 82.1 320 -P 18 39 01.4 0.3 BJI 23.7 306 cP 23 14 39.0 -3.5
CN2 822 323 -P 18 39 01.4 —0.9 cS 23 18 52.0 0.7
BJI 85.7 316 cP 18 39 20.0 0.2 SMN mg=$5.3 7.0 044
GYA 864 300 P 18 39 24.2 1.0 SME 80 043
XAN 88.0 307 -iP 18 39 30.8 0.5 eSS 23 19 41.0 0.2 '
KMI 89.1 297 -P 18 39 37.0 1.0 TIY 25.8 298 c¢P 23 15 03.5 0.6
HHC 892 314 +P 18 39 36.8 0.6 S 23 19 27.5 1.1
BTO  90.1 314 ¢P 18 39 36.8 -3.6 LE Ms=42 =~ 100 023
GTA 9.8 309 P 18 40 10.8 —{.1 HHC ' 273 308 &P IV .23 135 15.6 “HI IS
_ XAN 282 290 cP 23 15 23.0 -1.$
531 2988 125 BTO  28.4 304 (P) .23 15 18,0 -8.0
~ 0=12130 45.7 + 0.11s 284




_

INnternationa

December, 1985 | R, ¥ S ASFREOTTTO
GTA 359 299 P 23 16 33.2 1.6 WMQ 148 55 P 07 08 00.5 -1.9 Centre
LEA 183 106 ~P 07 08 44.4 0.1
1988 12 6 GTA 23.0 74 <P 07 09 30.4 0.0
O =00 $6 57.6 t 0.53s
LAT=21.55 N +  3.86km 1985 12 6
LONG= 9982 E t  L76km O=12 33 21.3 t 0.12s
DEPTH= 10 km LAT=4993 N + 2.80km
STATIONS USED = 6, STAND DEV= 2,75s LONG =156.85 F. t  2.00km
M, =47/ 2, DEPTH= 36 km t 0.27km
KMI 45 37 -Pg 00 58 15.5 ~1.1 STATIONS USED = 60, STAND DEV= 1.18
Sg 00 59 08.5 ~8.8 Ms=4.5/ &,
GYA 79 51 cPg 00 59 16.0 -2.1 MDJ 19.2 264 -P 12 37 43.6 ~1.4
CN2 222 266 cP 12 38 13.5 ~3.0
1985 12 6 eS 12 42 06.0 o 7
0=02 07 27.6 +  0.1Ss LZ Ms=4.4 16.0  0.80
LAT=59.54 S + 4.26km SNY 244 263 cP 12 38 37.4 —0.2
LONG= 26.20 W +  3.94km BJI 30.1 267 cP 12 39 29.0 —0.9
DEPTH = 32 km + 0.56km TIK  31.7 260 P 12 39 44.8 0.6
STATIONS USED = 26, STAND DEV= 3.35s SSE 326 248 cP 12 39 53.0 1.1
GTA 1409 96 —-PKP 02 26 57.8 2.0 PMZ 1.0 0.070
XAN 1412 111 PKP 02 26 55.2 ~1.0 sS 12 45 20.0 —0.6
TIY 1458 111 e¢PKP 02 27 03.0 ~1.3 LN Ms=4.7 180 094
TIA 1468 118 c¢PKP 02 27 07.5 1.7 HHC 32.6. 271 eP 12 39 51.6 —0.9
BJI 1495 113 e¢PKP 02 27 14.0 3.9 NI2  33.31.252 +p 12 39 58.0 —0.4
CN2 1567 120 ePKP 02 27 20.0 —0.3 LZ Ms=4.5 20.0  0.60
BTO °  33.8 4497 4B 12 39 58.0 —4.3
1985 12 6 TIY. v B 866 P 12 40 03.0 0.4
O =05 00 02.3 + 0.07s eS 12 45 14.0 -9.3
LAT=29.25 N + 0.57km LE Ms=4.5 150 0.43
LONG=102.42 E + 0.55km WHN 372 255 +P 12 40 31.0 0.0
DEPTH= 19 km + 0.23km XAN 383 264 cP 12 40 39.0 ~1.7
STATIONS USED = 8, STAND DEV= 1.85s GTA 410 278 +P 12 41 03.5 0.5
M, =3.2/ 3, _ LZ Ms=49 16.0 088
ED2 - 200 *350-4iPg 05 00 39.4 1.2 GZH 432 248 —ip 12 41 20.8 —0.1
Sg 05 01 08.9 3.0 CD2 436 265 +iP 12 41 25.6 0.9
SMN M, =3.3 0.6 0.23 PMZ 0.8 0.030
. SME 0.8 031f{GYA 448 258 <+p 12 41352 0.8
kXA - 587 125 Pn 05 01 14.4 119, WMQ 46.1 290 +ip 12 41 45.6 0.9
SMN M, =3.2 1.4 0.020fKMI 483 260 +p 12 42 01.5 —0.1
SME 1.4 0.0501QZN 484 248 cp 12 42 03.4 1.2
XAN 73 48 c¢Pn 05 01 48.5 —0.3
1985 12 6
1985 12 6 O=16 44 59.9 +  1.43s
0=07 04 41.3 + 0.07s LAT=34.31 § + 13.76km
VAT=36% N + 1.22km LONG=111.79 W % 40.08km
LONG: 70.83 E * 1.10km DEPTH= 18 km +  §.18km .n
DEPTH=191 km £ 0.72km STATIONS USED = 18, STAND DEV= 2.8ls
STATIONS USED = 24, STAND DEV = 1.72s TIY 1443 289 +ipkp 17 04 32.8 -3 3
, M =4.7/12, | UYA' 146.1 ° 267 PP o 1F OLGEE Lot il
2.0 53 ~ip 1.8

07 05 58.0

-XAN 146.5 281 ¢PKP 17 04 38.6 ' B




h_

| Internationa
December, Ig%g

RN : _ _ Ly g _ mologica
mVL 19SS 2R ~BEP 1704 450 1.3 SSE 198 239 ¢P 20 43 46.9 2.5 Lentre
CD2 150.0 274 ¢PKP 17 04 48 4 1.0 S 20 47 15.0 1.3
LZH 1309 284 oPKP 17 o4 $10 4.0 SMN my= 5.3 10.0  0.95
‘ PcP 20 47 58.0 247
1988 12 ¢ ePcS 20 51 36.0 4,7
O=17 §7 307 t 0.22s LN 150  0.58
LAT=27.7% N +  3.10km NJ2 20.7 245 +P 20 43 52,2 ~].2
LONG= 14163 F t  6.42km S 20 47 28.0 ~2.3
DEPTH= $8 km + 272km HHC 220 274 ¢P 20 44 05.0 ~1.1
STATIONS USED = 11, STAND DEV= 3.16s TIY /22401266 oP 20 44 09.4 —0.5
_ Ms=44/ 1, myg=5.1/ 3 ' SS 20 48 56.0 0.1
N2 202 288 +P 18 02 03.5 0.1 LE 100  0.35
- TIA 224 298 P 18 02 23.5 -2.0 BTO 2320214 ¢p 20 44 15.0 R
' PMZ my=S.1 50 0.4 cpP 20 44 47.0  —1.6
BJ1 243 307 cP 18 02 42.5 -1.9 csP 20 45 07.0 —0.7
cS 18 07 03.0 6.5 cS 20 48 08.5 —6.1
SME my=5.1 9.0 041|WHN 247 248 cP 20 44 33.0 1.3
eSS 18 07 55.0 3.1 XAN 26.6 261 cP 20 44 48.6 —0.8
| TIY 264 300 cP 18 03 05.0 1.0 ¢S 20 49 15.0 4.1
PMZ my=15.7 50 1.01J|LZH 294 269 cP 20 45 14.0 —0.4
| LE Ms=4.4 11.0  037|GZH 304 238 ~—iP 20 45 25.9 2.2
- XAN 287 291 e(P) 18 03 18.0 —6.7 GTA . 3LGa 271 P 20 45 28.5 —0.5
GYA 31.1 276 cP 18 03 48.4 2.2 S 20 50 21.3 1.1
G2 331 . 8% eP 18 04 04.1 0.7 ScP 20 51 48.6 1.8
GTA 364 300 cP 18 04 293 ~2.9 ScS 20 55 44.3 1.6
D2 ' 3L9% ;380" P 20 45 36.4 —0.6
1985 12 6 ScS 20 55 48.9 1.5
0=20 39 23.7 + 0.07s GYA 325 250 +P 20 45 42.0 0.0
LAT=43.14 N + 1.82km sP 20 46 34.0 0.5
LONG=141.08 E + 1.20km S 20 50 42.0 -1.6
DEPTH =159 km + 0.88km ScS 20 55 51.0 0.7
STATIONS USED = 65, STAND DEV= 1.50s QZN  35.6° 237 cP 20 46 10.0 1.7
m,=5.3/ § KMI  36.1 253 +P 20 46 13.0 0.5
MDJ 84 284 -P 20 41 25.0 1.2 WMQ 382 290 —iP 20 46 30.2 0.3
' PMZ 2.0 S 09C PMZ 1.5 »iR
S 20 43 01.0 3.6 S 20 52 12.0 1.7
eN2 s I8 —iP 20 42 02.5 —0.1 sS 20 53 13.0 2.1
PMZ mg= 5.5 50 O0.80f{[LSA  41.8 268 P 20 47 00.4 0.6
sP 20 42 43.0 0.7 S 20 53 06.5 2.9
cS 20 44 07.0 —0.4 | SME mp=35.7 40 0.55
LN 8.0 1.3C
SNy 130 270, ¢P 20 42 24.2 0.8 1985 12 6
PMZ mg= 5.1 80 043 < O0=22 26 249 +  0.16s
sP 20 43 07.0 2.8 LAT= 1.61 S t 2.71km
S 20 44 51.0 6.6 LONG =135.00 E +  2.94km
BJI 18.9 269 ¢cP 20 43 33.0 ~1.3 DEPTH= 22 km t  0.39km
cS 20 47 05.0 9.2 ~ STATIONS USED = 74, STAND DEV= 2.02s
SMN my=5.2 7.0 061 Ms=59/21, my=6.0/19
ScS 20 54 54.0 0.9 QZH  30.8 330 cP 22 32 33.0 -3.8
TIA 19.7 257 P 20 43 40.7 -1.8 PMZ my= 6.0 10 SR & [
A A —1247—
s '
T A



December,
QEN 31 3N
G&H 324 321
SSE 35.1% 7339
NJ2 36.8 337
WHN 37.5 330
GYA 39.1 318

1985

PP
¢S
sS

SME
LN

LE
o
PMZ

LN

+P
sP
PP

LE
P

PP

1S
SMN
1SS
1PcS
IScP
LN
LE

PMZ

iz 33 3a.0
22 37 .0
AR’ 37 33
Ms§ =355

22 32 522

22 39
22 39

e i b

22 34 05.0
22 38 02.0

i1 33

22 33
22 34 36.0
22 38 47.0
22 38
239
22 4]

22 33 31.8
22 33 41.2
22 34 58.0
22 39 07.0

22 33 40.7
22 33 46.0
22 35 11.0
22 39 29.0

=31
-2

-] .2

-=2.0
1.8
3.0

2.2
—4.0

0.0
A
g e
—4 .8
=16
Y

=1
3]
—0.8

—84

1.0
=]
33
1.5

0.1

=146
4.1

0.2

~08
=00

12.0
14.0

- {4

13.0
16.0

8.0

10.0
14.0
12.0

6.0

14.0
16.0

15.0

9.0

12.0
16.0

5.0

18.0

KMI

140 TTA

2.10
5.2(C
DL2

Ll

1.36{| XAN
2.4
2.38

1.79

D2

5.38
20.1

TIY

1.9

SNY

2434

4.28
7.03

1.40| BJ1

5.8(

41.0 313

42.2

43.1 328

439 320

44.4 334

44.5 348

44.9 339

344

LE
+ P
PMYZ

P

LN
¢
cS
SME
SS
LN
LE
+P
sP

S
LN
+P
pP
sP
PP

S
SMN
SME
LN
LE
+P
pP
PP

S
LN
cP
PMZ
IS
SME
SS
LN
LE
cP
PMZ
PP

S
SME
S
LN
LE
oP
PMZ
PP
eS

22 34 09.0
My =62

22 35 440

22 40 09.5
Mg =56

22 34 09,5

22 40 21,5

22 34 23.0
22 34 32.0
22 40 44.0
Ms=6.4
22 34 25.0
22 34 31.0
22 34 342
22 36 10.0
i22 40 46.0

Ms=5.8

22 34 323

22 34 379

22 36 20.0

22 41 02.0
Ms=13.7

22 34 35.6
mp=16.3

22 41 08.5
mp=6.0

22 44 245
Ms=6.0

22 34 35.8
myp=35.8

22 36 23.0

22 41 10.0
mg= 6.1

22 41 240
Ms=359

22 34 39.5
mp=6.1

22 36 32,0

22 41 17,0

e 14

_

Internationa
| 1Ca

Cenwo  4.60
0.1

1.0 266
o’ ¥
~=9.4
17.0
-2
0D

90 229
4.3 |

4.16

1.69 |

140 926

5.1
3.3
8.3
14.0
—0.9
-2.3
~2.4
1.9
~3.7
16.0
10.0
15.0
14.0
—0.1
-2.0
3.9
0.5
13.0
0.3
6.0
—04
9.0
5.7
19.0
19.0
—0.9
7.0
1.6
0.8
10.0
1.3
17.0
18.0
-0.6
| 5.0
6.3
08 s




eSS
LN
LE
330 ¢P
PMZ

HHC 473 336 P

474 325 cP
47.8 334

1LZH
BTO

i
PMZ

GITA 90" 326

LSA 322 310

PMZ

WMQ 619 323 P

KSH 67.6 314 P

1985 12 7
0O=04 39 03.3
LLAT=128.54 N
LONG=140.42 E

22 34 468

Fd

)

L

P
22
22
22
22 41
2253

tad e L L
o L W W

2 37
22 42

g2 35

22 44 36.0

J

' OO
fd
-
fad
L
[

05.0
03.0
08.3
34.0

58.0
35.2

mp=06.3

36.0
39.1

Ms=354

36.5

my= 6.0

22 37 41.0

Ms=35.5
22 36 45.0

22 36 51.0

220 36x 55.D

22 39 05.0

22 45 10.0
Ms=5.8
2253821<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>